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Unit 4 — Proportions and Similar Polygons

fgges 191-192 Exercises 4.7

2 2:2 2
1. No. & does not equal $%2; that is, & does not

equal 3. Also, £ does not equal 2:—5; that is, g
does not equal .

2. In each case use the cancellation law to reduce
each fraction to lowest terms. Units may be
cancelled just as are numerajs.

6in. _ 3

8in. T g

i3im. _ 154y _ 5 _

3R T 3gm 1z 3ft.=36in
51 5 1 2

2in. _  3in q%o,i’_.%

13 T 7% - 2575
63 ™ T 1 s

When dividing fractions invert divisor and mul-

tiply.
B
12m ~ 3

3. In effect the line must be divided into two parts
3r and 10~

Then 37 + 107 = 42in., Axiom 6

13r =2 in,, Axiom 8

r= 4%, . % in., Cancellation law
r-iim
Then3.r=3. -g—’ nlzgin.: 5 in
10-r=10-2in =2in =33 in
4. Solve as any fractional equation.
@) 3= %
3x=48
x=16
®) 15 =
*= 3
x=35
© 5% - ]
18=7(5-x)
18=35-7x
7x=35-18
Tx=17
X= % = 2%

x=33+6

(3x-2)(x-3)=0
3x-2=0,x-3=0
= «%—,x-—-?’

3. Write each as a fractional equation and “clear of
fractions.”

692 3
@ g3
24=24

Yes

3in. 1ft,
(d) 2 % ft. 3 %yd.

3 in. 1f.
30in. = 10f

30=30
Change 21 ft. to inches and 31yd. to feet.
Yes

e
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6. No. The same unit must be used for the first

pair, and the same unit for the second pair; but () '23?'; £
these two units may be different. For example, 2 100
see exercise 5(d).- Using an inch as the unit x=
for the first two, the ratio is 3:30, that is, 1:10. x = =100
Using a foot as the unit for the second pair, the 10
ratio is 1:10. T
6 _ %
7.() 3 =3 ;=%
31 =36 %7 =48
xe12 x = xv48
b 4.2 x =243
3 X § _ X
4x = 27 ©) =18
x= % - x2=144
.= 6% x=xv144
3 4 x==+12
© 5=z .z
3x = 36. D=5
=12 x*=ab
9 x=+\a
@ 3-3
: 18 ..
9x = 12 ® T =3
= 12 x* =144
=7
x =1% bx = *12
x
©4-1 3=
4x =27 #* = ab
e % x = +Nab
x = 6% 10. Yes, for example % = 2"—0 ,x=+10and
20 _x ..
® 5-12 % =5 =0
3_6
x="g 3x = 36 ﬁ (&) 5=
x=13 x=12 B 8x = 144
8. No. The fourth proportional to three given quan- (b) ‘13g = % ﬁ =18
tities is not the same irrespective of the order in 12x = 64 P Hi=1°
which they are taken. Example: 3:4 = 9%, x = 12; 1 S; _ ;
but when the order is changed, 4:9=3:x, x =6 % . x=353 ﬁ X e
. . & - 5
5 6 3
9.(@) 2=79 (© 3 =3 g
x*= 100 6x=9
9
x=+4100 X=13
x==10 x= 1%
8 r 5
(by 8= % : d5s=7%
x?=48 rx=st
x=+V48 x= f—z
x= 43

12. No. The third proportional to two quantities is |
not the same irrespective of the order in which
they are taken. Example: See (d) and (f) of
exercise 11 above.
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